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Just as Noisohr is burnt, Chomaytz is also burnt

OVERVIEW

""" derives that 79> XOX Y717 72 PR by comparing it to 9m3 (which is 792282 70K
7R172Y, just as yan is), that just as by 7M1 we require 719w, the same is by ynn.
MBoIN questions the accuracy of this derivation.

nooIN asks:
= N9V NN 9327 PN NIV NN (3,713 97 DIYT WIITT INNID 9NN ON)

And if you will say; according to the one who previously expounded the 7105 of
WX 1M NX N9, to teach us that only 9m is to be burnt, but no other "o°%

7R3 are to be burnt -
= 9511 N9YHVYA NN TN *a9 ‘]’5’ b= 20 ]

How can °'"'9 derive from an1: that y»n is to be burnt, since this 7" maintains that
there is an exclusion written by 7011, that only 7n11 is burnt but no other AX17 *M0°X, (seemingly)
including ynn, are to be burnt?!

N1B0IN answers:
- 2199905K INY NYN 113 S0I91Y 19 79T DNIAN 13 PYNY 19529 ¥

And the R"2w9 answered that we can only exclude (from the word an) other

7RI 990N (that they are not burnt) -
- 5])’\99)3)9 N9 %1991 9233 *nv9a 9,y e NN YaN

However y»n, which is similar to =n1 regarding na> and ™ nn 2, we do not
exclude.

nooIn asks:
- 71933 139N BXA PNON INY 959 9997 *9r95 9NN BN

199,09 (719%N) MW states X317 WP D IR XY WRI NI N AOIY) AT TV 9T 1Y DRDBT 2N 0 OX).

% See the X3 there on 2,3 that 10X XW refers to 9ot 1w, See ‘Thinking it over’.

? If one eats y2n or 90 there is the N2 punishment, but not by other X377 *10°X such as P01 M (where it is only a

R, but no n12).

4 Literally, ‘not to be left over’. Both 71 and y»r need to be eliminated when they are forbidden; however other

X317 °710°K need not be eliminated.

3 The exclusion is limited to 7 10°X that are not so similar to 201, but not to y»n which is (more) similar to 9m1 (than

other 2°10°K). See 2°n5 71"7 X,1> MO that from one VY we exclude only 177 Xn? 228 10°1? "3 M7 K27 RNPM

X7 70°17 [see TIE there footnote # 3].

6 X,72. The X3 derives from the P09 (see footnote # 1) that 92X XY is superfluous (since it states no7wn), therefore

(see footnote # 7) we apply the 75%* X2 to other o>10°X (where the 770 prohibits eating them), and since it is not
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And if you will say; how did the X713 derive previously that other 2°m®°R are

X172 MoX through the °1¥ 119K 2R process -
- 55510 199 91911 NPT DA \ANA XD YN

We should apply this P19 that teaches X177 710°R (which we derive through oX2

71 1°R) only to mopa ynn, which is more similar to 1n1 than the other 2™ 10X (as
mooIn just taught us). How do we know that other 2>110°X are also 1X1772 7OKX?!

NDOIN answers:

299980 7193 995 S8nT [XIP] P98 RY NI YANYT 9219 W
And one can say; that for nep2 y»n we do not need [a ?op] to teach us MOX
7X17 (through a 11y 11X oX2 [from M1]), for we can derive the X177 70X by yn1n
noo2 through a 11987 7% from 7M1 (since they are so similar).

SUMMARY
We cannot exclude y»n from 7197w because it is very similar to 9011, and we derive
X317 MOX (by ynn) from 7013 through a 11°%7 77 (without a 11V 11°K OX2).

THINKING IT OVER

The X"2w1 answered that from the exclusion of 719°7w2 X"7 X1 779°W2 N7 we can
only exclude 7"M0°X XY, but not ynn. See footnote # 2 that PO R IR refers to MW
%701 (only). How could we even think to derive P01 "W from 2n that it
requires 19 (if not for the VY°n), since eating 7N is N2, however there is no
n1> for eating a 90371 MWw? There is no need to be Y01 MW vy from Ao w! '

necessary to teach us the 19°5% M0°X by these 2> MoK (since the 7710 already prohibited them 7%°5%3) we apply it to
the other o MoK for 7X37T MOX (that wherever there is an 77°2% MoK there is also an 7R3 MR [except where the
770 indicates that it is 78372 207 (like 79°21 or 257)]) .
711y K oX 0X2 is a method of expounding the 7, that if a certain law is not necessary to be mentioned (where it
was mentioned), since we know this law anyway, we apply this law to other cases (where we would not know this
law).
¥ moon is asking just as we do not exclude y»n from 79w since it is so similar to 901, in the same way we should
include only y»n in the 7R 70°R which is derived from m1 (through 11y 1°X ox2). We always include and exclude
only that which is most evident (different by exclusion and similar by inclusion). See footnote # 5.
’ However, regarding the other 210°X, which are not that similar to 911 (so we cannot derive their X371 MO
through a 11°¥n 1 from 2M11), we derive their X137 MR through 1°1¥ 1°X X2 from 1.
% See X"wmn.
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